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Find the exact value of sin 13?“

Find the exact value of cos (- %).

Find the exact value of sin (- %E).

Find the exact value of'tan (- §4E).

The value of sin 37“ +cos 2?7‘ is

. . 3m n.
The numerical value of sin = +cos 7l is

The value of sin % +tan -} is

What is the value of tan ng cos m?

The value of cos % -sin 3—“ is

For which value of @ is the expression 2
Tan 0

For which value of @ is the fraction

Evaluate: (2 Arctan 1)
The value of Arc sin (-1) is
The value of 2(Arc sin 1) is

If 8 = Arc cos (%, what is the value oftan 07

The value of cos (Arc tan 3) is

The value of sin (Arc cos 1) is

What is the value of sin (Arc cos %)?

The value of tan (Arc sin -?) is

V3

Evaluate: cos (Arc sin —2-)

Evaluate: cos (Arc sin (-1))

Evaluate: cos (Arc tan [-1])

Find the value of the expression, Arc sin (tan [~ %]), in

radians.
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Find the value ofthe expression, Arc cos (sin -%), in

radians.

Find the value of the expression, Arc tan (sin 3?“), in radi
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Atx= %, the difference 2 sin x - cos (2x) is
Ifg(x)=tan (x - %), the value of g(xn) is
Iffix)=cos §+ sin x, then f{xx) equals

If fx) =sin? x, then f(g) equals

If f(x) = sin ; then fx) equals

Iff(x) = 4 cos 3x, what is the value off(%)?

Iff{x) =cos 3x +sin x, then {{g) equals

Evaluate: sec0+csc %

3%
Evaluate: csc > -secn
Evaluate: cot gtan )
Evaluate: sec? x -2 cot %
Evaluate: sin?~-tan "

3 4

Evaluate: 2cos = tan %
Evaluate: csc > -sec >

6 3
Evaluate: cot X sin >

3 3
Evaluate: 2tan > +sin ~

4 2
n K} 1 n
Evaluate: 3tan —-cos —) + (cot =
( g > )+ ( 4)
3n I
csc —tan —
Evaluate: 2 3
sec? X
3
. = 3
Evaluate: sin (Arc cos [ 7]) \
1 -\
Evaluate; tan (Arc sin [-2]) g :
2 {\\,\“\ o
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Evaluate: sin (2 Arc cos [-— R

( [ 2 1 Q\k &Q
Evaluate:  cos (2 Arc tan [3])
Find the value of the expression, Arc cos (sin %), in radians.

Find the value of the expression, Arc sin (tan %), in radians.
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Reminder: Principa) Values
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